D1vISION WITH A REMAINDER IT (H - SET 1)

DIVISION WITH A REMAINDER Name:
Time: Score: J—
361 49794 + 9 = 376) 32448 + 4 =
362) 25720 +3 = s 1744 =+ 3 =
363 3495 + 1 = 378) 160 = 2 =
3610 66617 =+ 10 = 379) 191 + 2 =
365) 27989 + 3 = 350) 12258 +2 =
366) 19315 = 2 = 381) 86712 = 10 =
367 14254 + 8 = 382) 39144 + 4 =
368) 4704 -1 = 383) 6738 —4 =
369) 9038 - 4 = s8) 4997 + 10 =
370) 16432 — 7 = 385) 24180 =5 =
7). 23550 + 4 = 356 7449 +5 =
3120 9851 + 2 = 37 80082 + 9 =
373) 38430 + 6 = 355 65396 + 10 =
571 16816 = 7 = 39) 14313 + 2 =
375 36234 =— & = 30 21004 = 3 =
Mathematics: Division - Level § - Horizontal - Set 1 14 culu
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